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O 00O OO O O Suppose that whenever decision variables appear in the objective function and in the con-straints
of an optimization model, the decision variables are always multiplied by constants and added together. Such a
model is a linear model. If an optimization model is not lin-ear, then it is a nonlinear model. In the constraints of
Example 1, the decision variables are always multiplied by constants and added together. Thus, Example I's
constraints pass the test for a linear model. However, in the objective function for Example 1, the terms .001T'P,
-.01T2, 19A'B, 11.4A'C, and -9.6B*C make the model nonlinear. In general,nonlinear models are much harder to
solve than linear models. We will discuss linear models in Chapters 2 through 10. Nonlinear models will be
discussed in Chapter 11.
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